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1.8 %3}2%(harmonic motion)

(1) 7] % (periodic motion)

A sinw!

N ¥ ——

= . 2
- F7l(period) : 7= %

1
- T (frequency) ¢ f=—

- % (motion) : z(t)= z({t+7)

(2) %3}2%(harmonic motion)

<d 1>

. t
H2l(displacement) z= Asinwt= Asin2r—
-

. . d
2= (velocity) z= 7‘:2 wAcoswt= u)Asin(wt—i-g)

) - &’z .
7} E(acceleration) = ?: — W Asinwt= w’Asin(wt+m)
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(3) A48 Hj(exponential form)
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e’ = cosh+isind

Acoswt + 1Asinwt

T+ iy
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- HA] ¥ (decibel)

dB=10log,,
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X, 2 Xy
== 1010g10 1‘— - 2010g10 .’L‘—
2 2

= power
- AF e A

- =E}H (octave)

A9 FEH 0L B Faeweie] ool HFd W, of Fis T

(span)= 97| &h
Band Frequency Range (Hz) Frequency Bandwidth
1 10-20 10
2 20-40 20
3 40-80 40
4 200-400 200
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- Fuorier 7=

x(t)

Q

T7] %5 (periodic motion)

?0 + a,coswt + a,coswyt + -

+ bsinw;t + bysinw,t + -+

2T

(1t = period)
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- Fourier coefficients

2 /2
a,= — z(t) cosw, t dt
T —7/2
2 /2
b,= — sc(t)sinwntdt
T —7/2
- X

7/2

~

cosw,t cosw, t dt =
—7/2 '

7/2
sinw,t sinw,t dt =

~

—7/2

/2

~

cosw,t sinw, t dt =
—7/2

x(1)

0

T/2
0

T/2
0

0

ifm#=#n

ifm=n

ifm#=#n

ifm=n

ifm#n

if m=n

1 w,t —iw,t
cosw,t= —<e "t+e )
2
. 1 iw,t —iw,t
sinw,t= —




- X928 Fourier 55°

- X]5=3 Fourier coefficients

1 7/2
c,= — z(t) (coswnt — isinwnt) dt
T —7/2
1 T/2 —ww
= = w(t)e
T —7/2
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7/2
/ E(t) sinw,tdt= 0
—7/2

7/2
f O(t) cos w,tdt= 0

—7/2



